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1. SQL I

1. You query the database with this command: 

Select name from employee where name like ‘_a%’;
Which names are displayed? 

A. names starting with “a” 

B. names starting with “a” or “A” 

C. names containing “a” as the second letter 

D. names containing “a” as any letter except the first 

 

2. For which task would you use the BETWEEN operator? 

A. query the database for values in a specified list 

B. query the database for a character pattern 

C. query the database for a range of values 

D. query the database for unknown values 

 
3) For which task can you use the TO_CHAR function? 

A. display a date value in ‘Month dd, yyyy’ format 

B. accept ‘October 20, 1965’ and store it as a date value 

C. accept ‘ten’ and store it as a number 10 

D. accept the number 10 and store it as ‘ten’ 

 
4) Which character function can you use to return a specified portion of a character string? 

A. INITCAP 

B. CONCAT 

C. SUBSTR 

D. LENGTH 

2. SQL II

1. You query the database with this command: 

Select name, salary, dept_id
From employee
Where salary >
(Select avg(salary)
From dept_no =
(Select dept_no
From employee
Where last_name =
(Select employee
Where salary > 50000)));
Which Select clause is evaluated first? 

A. Select name, salary, dept_id 
B. Select avg(salary) 
C. Select dept_no 
D. Select last_name  

2. How many join conditions are needed in a join query to avoid a Cartesian Product? 

A. number of tables plus one 
B. number of columns plus one 
C. number of tables minus one 
D. number of columns minus one 
E. none 

 

3. Which two group functions can be used with any datatype? (Choose two) 

A. Sum 
B. Max 
C. Min 
D. Avg 
E. Stddev 
 

4. Which clause would you use to exclude rows, before grouping them? 

A. Where 
B. Having 
C. Order by 
D. Into 

 

5. Which two clauses can contain a subquery? (Choose two.) 

A. Where 
B. Order by 
C. Select 
D. Having 
E. Group by 

6. In which situation would it be most appropriate to use a self-join query? 

A. The employee and region tables have no corresponding columns. 
B. The employee and region tables have corresponding columns. 
C. The employee table column corresponding to the region table columns containing null values for rows that need to be displayed. 
D. The employee table has two columns that correspond to each other. 

  

7. Which Select statement is an equijoin query between two tables? 

A. Select region.region_name, employeeinfo.last_name 

From employee region, employee employeeinfo
Where employeeinfo.id >= region.manager_id;
B. Select region.region_name, employee_salary 

From region, employee
Where region_id = employee.region_no;
C. Select region.region_name, employee.salary 

From region, employee
Where region.id = employee.region_no(+);
D. Select region.region_name, employee.salary 

From region, employee
Where employee.salary between region.avg_salary and region.max_salary;
3. SQL III

Hints:


a) use the script create_tables.sql to create the tables that 

will be used in the assignment. Run the script in sqlplus 

(to run a script in sqlplus use


SQL> @filename


SQL> /

 filename is, for example, create_tables, etc.)


b) use the other scripts, applicant.sql, org.sql, and staff.sql to 

insert data into the tables.


c) if you have problem, call another student who has already figured 

out the way or email me for consultation (I suggest that you challenge 

yourself to get through the steps as independently as possible).

_____________________________________________________________________

SQL Exercises

1.  Provide a list of managers and their department names that have

been there for at least 10 years

2.  Provide a list of employees that work in the same department as

an user-provided manager. (Have system prompt you for the manager's

name)

3.  Provide a query that will provide a person's name, title,

department name and total compensation based a partial name search

that you provide.

4.  Provide a query that lists locations, the number of employees

in that location, and the average salary for that location.

5.  Provide a query that lists employee name and department name for

employees making less than the average compensation for their

department.

6.  Give every employee a 10% raise except managers.

7.  Create an index on the name in the staff table.

_____________________________________________________________________

create_tables.sql:

CREATE TABLE STAFF

    (STAFFID        SMALLINT     NOT NULL,

     NAME      VARCHAR2(20),

     DEPTID      SMALLINT,

     JOB       CHAR(5),

     YEARS     SMALLINT,

     SALARY    NUMBER(9,2),

     COMM      NUMBER(9,2));

CREATE TABLE ORG

    (DEPTID  SMALLINT     NOT NULL,

     DEPTNAME  VARCHAR2(15),

     MANAGER   SMALLINT,

     DIVISION  VARCHAR2(14),

     LOCATION  VARCHAR2(13));

CREATE TABLE APPLICANT

    (TEMPID    SMALLINT     NOT NULL,

     NAME      VARCHAR2(20),

     ADDRESS   VARCHAR2(17),

     EDLEVEL   SMALLINT,

     COMMENTS  VARCHAR2(29));

/

Applicant.sql
INSERT INTO APPLICANT

 VALUES(0400,'FROMMHERZ','SAN JOSE,CA',0012,'NO SALES EXPERIENCE');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0410,'JACOBS','POUGHKEEPSIE,NY',0016,'CANDIDATE FOR WASH.');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0420,'MONTEZ','DALLAS,TX',0013,'OFFER SALES POSITION');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0430,'RICHOWSKI','TUCSON,AZ',0014,'CANT START UNTIL 12/93');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0440,'REID','ENDICOTT,NY',0014,'1 YEAR SALES EXPERIENCE');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0450,'JEFFREYS','PHILADELPHIA,PA',0012,'CLERICAL BACKGROUND');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0460,'STANLEY','CHICAGO,IL',0011,'WANTS PART-TIME JOB');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0470,'CASALS','PALO ALTO,CA',0014,'EXPERIENCED SALESMAN');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0480,'LEEDS','EAST FISHKILL,NY',0012,'INTERVIEW WITH BROWN');

COMMIT;

INSERT INTO APPLICANT

 VALUES(0490,'GASPARD','PARIS,TX',0016,'WORKED HERE 1/90 TO 6/90');

COMMIT;

Org.sql
INSERT INTO ORG

 VALUES(10,'HEAD OFFICE',160,'CORPORATE','NEW YORK');

COMMIT;

INSERT INTO ORG

 VALUES(15,'NEW ENGLAND',050,'EASTERN','BOSTON');

COMMIT;        

INSERT INTO ORG

 VALUES(20,'MID ATLANTIC',010,'EASTERN','WASHINGTON');

COMMIT;

INSERT INTO ORG

 VALUES(38,'SOUTH ATLANTIC',030,'EASTERN','ATLANTA');

COMMIT;

INSERT INTO ORG

 VALUES(42,'GREAT LAKES',100,'MIDWEST','CHICAGO');

COMMIT;

INSERT INTO ORG

 VALUES(51,'PLAINS',140,'MIDWEST','DALLAS');

COMMIT;

INSERT INTO ORG

 VALUES(66,'PACIFIC',270,'WESTERN','SAN FRANCISCO');

COMMIT;

INSERT INTO ORG

 VALUES(84,'MOUNTAIN',290,'WESTERN','DENVER');

COMMIT;

Staff.sql
INSERT INTO STAFF

 VALUES(010,'SANDERS',20,'MGR',07,18357.50,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(020,'PERNAL',20,'SALES',08,18171.25,0612.45);

COMMIT;

INSERT INTO STAFF

 VALUES(030,'MARENGHI',38,'MGR',05,17506.75,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(040,'O"BRIEN',38,'SALES',06,18006,0846.55);

COMMIT;

INSERT INTO STAFF

 VALUES(050,'HANES',15,'MGR',10,20659.80,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(060,'QUIGLEY',38,'SALES',NULL,16808.30,0650.25);

COMMIT;

INSERT INTO STAFF

 VALUES(070,'ROTHMAN',15,'SALES',07,16502.83,1152);

COMMIT;

INSERT INTO STAFF

 VALUES(080,'JAMES',20,'CLERK',NULL,13504.60,0128.20);

COMMIT;

INSERT INTO STAFF

 VALUES(090,'KOONITZ',42,'SALES',06,18001.75,1386.70);

COMMIT;

INSERT INTO STAFF

 VALUES(100,'PLOTZ',42,'MGR',07,18352.80,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(110,'NGAN',15,'CLERK',05,12508.20,0206.60);

COMMIT;

INSERT INTO STAFF

 VALUES(120,'NAUGHTON',38,'CLERK',NULL,12954.75,0180);

COMMIT;

INSERT INTO STAFF

 VALUES(130,'YAMAGUCHI',42,'CLERK',06,10505.90,0075.60);

COMMIT;

INSERT INTO STAFF

 VALUES(140,'FRAYE',51,'MGR',06,21150,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(150,'WILLIAMS',51,'SALES',06,19456.50,0637.65);

COMMIT;

INSERT INTO STAFF

 VALUES(160,'MOLINARE',10,'MGR',07,22959.20,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(170,'KERMISCH',15,'CLERK',04,12258.50,0110.10);

COMMIT;

INSERT INTO STAFF

 VALUES(180,'ABRAHAMS',38,'CLERK',03,12009.75,0236.50);

COMMIT;

INSERT INTO STAFF

 VALUES(190,'SNEIDER',20,'CLERK',08,14252.75,0126.50);

COMMIT;

INSERT INTO STAFF

 VALUES(200,'SCOUTTEN',42,'CLERK',NULL,11508.60,0084.20);

COMMIT;

INSERT INTO STAFF

 VALUES(210,'LU',10,'MGR',10,21010,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(220,'SMITH',51,'SALES',07,17654.50,0992.80);

COMMIT;

INSERT INTO STAFF

 VALUES(230,'LUNDQUIST',51,'CLERK',03,13369.80,0189.65);

COMMIT;

INSERT INTO STAFF

 VALUES(240,'DANIELS',10,'MGR',05,19260.25,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(250,'WHEELER',51,'CLERK',06,14460,0513.30);

COMMIT;

INSERT INTO STAFF

 VALUES(260,'JONES',10,'MGR',12,21234,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(270,'LEA',66,'MGR',09,18555.50,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(280,'WILSON',66,'SALES',09,18674.50,0811.50);

COMMIT;

INSERT INTO STAFF

 VALUES(290,'QUILL',84,'MGR',10,19818,NULL);

COMMIT;

INSERT INTO STAFF

 VALUES(300,'DAVIS',84,'SALES',05,15454.50,0806.10);

COMMIT;

INSERT INTO STAFF

 VALUES(310,'GRAHAM',66,'SALES',13,21000,0200.30);

COMMIT;

INSERT INTO STAFF

 VALUES(320,'GONZALES',66,'SALES',04,16858.20,0844);

COMMIT;

INSERT INTO STAFF

 VALUES(330,'BURKE',66,'CLERK',01,10988,0055.50);

COMMIT;

INSERT INTO STAFF

 VALUES(340,'EDWARDS',84,'SALES',07,17844,1285);

COMMIT;

INSERT INTO STAFF

 VALUES(350,'GAFNEY',84,'CLERK',05,13030.50,0188);

COMMIT;
4. Top-N Query

Finding top n values (for example, sal) from a table

(for example, emp)is actually quite a challenging query to write. And it is your 1st Oracle assignment. 

Hints: you may need to use two oracle parameters:

a) rownum;

b) rowid;

Please do some research on both of them in the Oracle documentation site.

This assignment is not easy but the solution is out on http://www.oramag.com.

How about using PL/SQL cursor?

5. De-duplicate

1) create a table using create tablename as select

...;

2) insert new rows to the table, making some identical

rows (duplicates);

3) write a script to remove the duplicated rows.

    DEPTNO DNAME          LOC

---------- -------------- -------------

        10 ACCOUNTING     NEW YORK

        20 RESEARCH       DALLAS

        30 SALES          CHICAGO

        40 OPERATIONS     LA

        50 DEVELOPMENT    DETROIT

        14 EDUCATION      SAN DIEGO

        80 EDUCATION      ATLANTA

        30 SALES          CHICAGO

        50 DEVELOPMENT    DETROIT

        30 SALES          CHICAGO

        80 EDUCATION      ATLANTA

You have a table with duplicates (triplicates). How do

you de-duplicate this table? (In a single statement).

Hints: check rownum/rowid in oracle documentation.

Also solution is out there on the Internet.

6. PL/SQL assignment: lock table, etc.

We know that declare a cursor like

Cursor mycursor is select...from...where...

for update of column [nowait];

means that we can use the cursor to do transactions like updates in our pl/sql Begin...End block.

Anything dealing with transactions, however, concerns with locking (why?)

Here is a good game to get us more deeply into computer programming:

1) write a pl/sql block to update the emp table using cursor, but before execute the pl/sql script in the current session, lock the table from another session using "lock table emp in exclusive mode" command. Use "rollback" to unlock. Experiencing how your updates are affected by the locking/unlocking.

2) Modify your pl/sql update script to allow attempting the updates "n" times, one attempt every "m" (for example, 30) seconds. Using dbms_output to identify which attempt actually succeeds. (Optional bonus points: How to randomize the waiting interval, e.g., a random period between 10 to 60 seconds?)

Hints: 

a) You need to unlock the table from the other session during your attempts before any updates can be successful. 

b) For sleep for "m" seconds, see the information below --- I found it from the Internet newsgroups. Or check the example at

http://taora2000.tripod.com/talentoracledeveloperresource/id4.html
-------------- hints for sleep in pl/sql, from

deja.com --------------

Subject: Re: command for sleep in Oracle

From: jmodic@src.si (Jurij Modic)

Date: 1999/09/22

Newsgroups: comp.databases.oracle.server

On Wed, 22 Sep 1999 20:11:20 GMT,

sudheenair@my-deja.com wrote:

    I need an equvlent command in oracle similar to the "waitfor delay

hh:mi:ss" in sybase.

This is required me to spawn a process every 15 seconds. Can any of you help me ?

DBMS_LOCK.SLEEP(15);

If sys.dbms_lock package is not created on your database, run dbmslock.sql and prvtlock.plb under user SYS.

HTH,

Jurij Modic <jmodic@src.si>

Certified Oracle DBA (7.3 & 8.0 OCP)

7. Handling Update-Otherwise-Insert

Your answer to question: how to move records in table emp_temp1 into table emp? Requirement: Update if (empno) already exists otherwise insert as new.

A solution from a student:

Subject: Handling insert and update using nested pl/sql block

Date: Fri, 01 Dec 2000 01:07:16 EST

Here is my assignment:

   1  BEGIN

   2      UPDATE emp e

   3      SET (empno,ename, job, mgr, hiredate,

              sal,  comm, deptno) =

   4        (SELECT et.empno,

   5              et.ename,

   6              et.job,

   7              et.mgr,

   8              et.hiredate,

   9              et.sal,

  10              et.comm,

  11              et.deptno

  12        FROM emp_temp1 et

  13        WHERE et.empno = e.empno)

  14      WHERE Exists (SELECT 'x'

  15                   FROM emp_temp1 et2

  16                   WHERE e.empno = et2.empno);

  17      INSERT INTO emp

  18                (empno, ename, job, mgr, hiredate, sal, comm, 

deptno)

  19          SELECT  et.empno,

  20                  et.ename,

  21                  et.job,

  22                  et.mgr,

  23                  et.hiredate,

  24                  et.sal,

  25                  et.comm,

  26                  et.deptno

  27          FROM    emp_temp1 et

  28          WHERE   NOT EXISTS (SELECT 'x'

  29                     FROM emp e

  30                      WHERE e.empno = et.empno);

  31* END;

What’s your solution: How about using exception handling?

8. PL/SQL Function Temperature

	
	Jan
	Feb
	Mar
	Apr
	May
	Jun
	Jul
	Aug
	Sep
	Oct
	Nov
	Dec

	Avg. High
	29 °F
	35 °F
	47 °F
	61 °F
	73 °F
	82 °F
	86 °F
	83 °F
	77 °F
	65 °F
	49 °F
	35 °F

	Avg. Low
	12 °F
	16 °F
	27 °F
	37 °F
	47 °F
	57 °F
	61 °F
	60 °F
	52 °F
	41 °F
	31 °F
	18 °F


This table is taken from http://www.weather.com/weather/climatology/60540.

Here is your assignment:

a) Create a table Naperville_record (month_of_year char(3), avg_high number, avg_low number) to host the above data. Insert the data into the table;

b) write a stored procedure to find the mid-point values of both avg_high and avg_low;

c) find out which month_of_year is the closest one to the mid_point values, respectively.

d) Avg_high – avg_low is the measure of temperature_difference of a month, find the top 3 biggest temperature_difference month_of_year.

e) The temperature is in Fahrenheit in the above table, display all your results in Celsius. Write a function, F_to_C to do that.

9. Functions for Family Tree

SQL> desc child_parent;

 
Name       
Null?    
Type

 -----------------------------------------------------

CHILD   


VARCHAR2(10)

 
PARENT      

VARCHAR2(10)

SQL> select * from child_parent;

CHILD      PARENT                                                                                 

---------- ----------                                                                              

Nora       Kenny                                                                                 Ahmed      Kenny                                      

Nora       Gladys                                     

Ahmed      Gladys                                     

Kenny      Kamel                                      

Gladys     Baker                                      

Ray        Kamel                                      

Allen      Kamel                                      

Omar       Ray                                        

Wally      Allen                                      

Leila      Allen                                      

Rashid     Baker                                      

Nisreen    Rashid                                     

Omar       Nisreen                                    

Kamel      Douglas                                    

Fred       Douglas                                    

Jamil      Fred                                       

Tod        Jamil                                      

Sam        Leila                                      

19 rows selected.

----------------------------------------------------------------------

With a family tree table like the above, here is the assignment:

The following set of recursive rules describes certain family relationships based on the CHILD_PARENT relation:

Sibling(X, Y) := Parent(X, Z) and Parent(Y, Z) and X <> Y;

Cousin(X, Y) := Parent(X, Px) and Parent(Y, Py) and Sibling(Px, Py);

Cousin(X, Y) := Parent(X, Px) and Parent(Y, Py) and Cousin(Px, Py);

Related(X, Y) := Sibling(X, Y);

Related(X, Y) := Related(X, Z) and Parent(Y, Z);

Related(X, Y) := Related(Z, Y) and Parent(X, Z);

The rule for Sibling says that if two different persons X and Y have the same parent Z, then X and Y are siblings. The other rules are interpreted in a similar manner.

Write PL/SQL programs (stored functions, mostly) that implement the following menu-based application that queries the family relationship database (containing only the CHILD_PARENT table above).


Menu:

a) Given a person, print all his/her siblings;

b) Given a person, print all his/her cousins;

c) Given a person, print all persons related to him/her;

d) Given two persons, print their relationship (siblings, cousins, related)

e) Quit.
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